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Question Number : 1 Question Id : 2549896371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The displays a list of commands that can be used to gain access to information, change hardware settings, find stored

information and shut down the computer.
Options :

1. % GUI

2. # desktop

3. % icon

4. % start button

Question Number : 1 Question Id : 2549896371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1. % UMb ToR $eXWH (GUI)
2. ® SXPHeg

3. % 3MZHHA

4. % WIE g

I TR B TP Yot UaiRid bRl § forohT SudnT
ga 3R HYLR B TSI (3) HRA P o fowam o qapelt

|

Question Number : 2 Question Id : 2549897629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Modern computers are very reliable but they are NOT

Options :

1. # precise
2. % cheap

3. % accurate
4. % infallible

Question Number : 2 Question Id : 2549897629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YD IR Igd Ay g Afp1ad A gl

Options :

1. ®% g (Trmg)
2. ® X
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3. % Y& (YRR
4. 3D (Fpalied)

Question Number : 3 Question Id : 2549897750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following languages is called machine independent programming language?
Options :

1. % High level language

2. % Low level language

3. # Assembly language

4. % Machine language

Question Number : 3 Question Id : 2549897750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T YT 1 TRAA Tad= TTERT yre (machine independent programming language) &l SITdl %‘?
Options :

1. % I SR HIWT

2. % {95 TG HI

3. % il HIST

4. % TR TS

Question Number : 4 Question Id : 2549897784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Formula in a spreadsheet is started with
Options :

1. % a dollar symbol ($)

2. %" an equal to symbol (=)

3. % a plus symbol (+)

4. % 3 minus symbol (-)

Question Number : 4 Question Id : 2549897784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Trexiic ¥ Bl ALE RIS
Options :

1. % TH SIeR BT UdD ($)

2. % U SRISR BT Ydioh (=)

3. % TP SIS (W) BT Ul (+)

4. % U@ B (W15H9) F9% ()

Question Number : 5 Question Id : 2549898403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following functions returns the arctangent of a number in MS-Excel?
Options :
1. %" ATAN function
2. % TANXY function
3. # XYTAN function
4. % ARCTAN function
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Question Number : 5 Question Id : 2549898403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEfRad # & HIF-91 Ba-H, MS-Excel H fordll G801 &1 3MTdhcaic dierdl 52
Options :

1. %" ATAN HhaRM

2. ® TANXY haRH

3. ® XYTAN haRH

4. % ARCTAN o=

Question Number : 6 Question Id : 2549898843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word the keyboard shortcut, Ctrl + I, is used to -
Options :

1. % save the document

2. % close the document

3. % apply italic formatting to the selected text

4. % apply Left Indent to the selected text

Question Number : 6 Question Id : 2549898843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word H ®IaS Redhe Ctrl + I DT SUTNT fHTT 1R -
Options :

1. % SlagHc Yg

2. % gagiie dg o

3. % TUMT TRE IR 3eferdh &0 AR B

4, % YT SRS W I1E 8¢ AN BN

Question Number : 7 Question Id : 2549899406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A(n) camera is a peripheral device used to capture still images in a digital format that can be easily transferred into a computer
and manipulated using graphics software.

Options :

1. " digital
2. % analogue
3. % classic

4. % front

Question Number : 7 Question Id : 2549899406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TS HHRT U IR a3y § ot U fSfioted Uy §f fed Sfaa (still images) 1 TR HRA & g SUTNT fpan Sran
2 e oA A Hoger B RIMIARA fbar St FebeT 7 3R Wby FTedTR BT IUTNT Breb -l b off Tebell B
Options :
1.+ feforea
2. & AN
3. % KIRAD
4. ® e
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Question Number : 8 Question Id : 25498923842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The CPU is connected to the video board through the bus.
Options :

1. * analogue

2. % system

3. % digital

4. % hybrid

Question Number : 8 Question Id : 25498923842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPU_ SO & Mo Y difsa a8 A JS1 8 gl
Options :

1. % QTR

2.+ Rew

3. % fefored

4. % grefas

Question Number : 9 Question Id : 25498923901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In computing, (a/an) is software or hardware that allows one computer system (host) to function like another computer system.
Options :

1. ® interpreter

2. % simulator

3. % compiler

4. % emulator

Question Number : 9 Question Id : 25498923901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hugfen H, THCITR T BTSATR & SNl Th bR ReH (B1e) B g8k Hex ReH Bt dRg B B B AR <1 2
Options :

1. % SRR

2. % g

3. ® HURR

4. % TR

Question Number : 10 Question Id : 25498929725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are one-bit memory cells that use bistable latches for data storage and hence there is no need to periodically
refresh memory contents?

Options :

1. % Static Random Access Memory

2. % Dynamic Random Access Memory
3. % Magnetic Memory

4. % Optical Memory
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Question Number : 10 Question Id : 25498929725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafifad 9 ®1F-91 teh-fae 90 T €, o ST TR & o e dd aevl BT YT HRdl § 3R ST, THI-JHT R
AHRY e o RO 78T BT usdr g2

Options :

1.+ Rfew You vy aust

2. % SATHE YSH TRy AR

3. % Tofee IOt

4. % 3fifdHd HART

Question Number : 11 Question Id : 25498929889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first six digits in the Universal Product Code represents
Options :

1. % manufacturer of the product and the type of transaction
2. % product code or item number

3. % check digit used to validate the code

4. % area code of the barcode manufacturer

Question Number : 11 Question Id : 25498929889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I NS DS AUGA BE 3 DI UM BRA G |
Options :

1. % IS BT FAATar 3R A &1 UHR

2. % IdIG DIS T 3IcH HHD

3. % PIS Bl ARG B & O SIAHTA b T1 I 3

4. % IR&IS FHtar BT IRT DS

Question Number : 12 Question Id : 25498929971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a method where a counterfeit mould emulates the unique biometric attributes of an individual so as to confuse the biometric
scanner.

Options :

1. % Biometric scanning
2. % Biometric spying
3. %" Biometric spoofing

4. % Biometric scoring

Question Number : 12 Question Id : 25498929971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T Ut fafd B foraes dgd fonddt aafaa &1 sifgcdia safes faxivarstt aren Ue Al Aics daR a1 Sirdn § arfds
IS TR oY Uitd fovar o weh |
Options :
1. % g BT
2. % IEACEH WgT
3. o SR b
4. % SOMACH WIRT
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Question Number : 13 Question Id : 25498931326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following structures is followed by the USB architecture?
Options :

1. % Tree structure

2. % Hash structure

3. # List structure

4. # Graph structure

Question Number : 13 Question Id : 25498931326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frofeRad & ¥ f5y TRa-T (eaeR) &1 SIER01 USB Sfdeder rdl 82
Options :

1. % ¢l R BT

2. % BRI WERR B

3. % foRe WaR &1

4. %= Yth IR bl

Question Number : 14 Question Id : 25498933177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 kilobyte (KB) is equal to bytes.
Options :

1. %= 2024

2. % 1012

3. %1024

4. %1042

Question Number : 14 Question Id : 25498933177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

| fpeiaTge (kB) 13T & RIR ¢ |
Options :

1. %= 2024

2. % 1012

3. % 1024

4. %1042

Question Number : 15 Question Id : 25498933931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to sound waves, what is the full form of SAW?
Options :

1. % Surface Arrangement Wave

2. % Screen Acoustic Wave

3. # Screen Arrangement Wave

4. % Surface Acoustic Waves

Question Number : 15 Question Id : 25498933931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

af T3 & e o, SAW &1 g0 ST 172
Options :

1. ® g5y 3RoHc ag (Surface Arrangement Wave)
2. ® T W G| (Screen Acoustic Wave)

3. % ThiF 3ROHC aa (Screen Arrangement Wave)
4. % IHYg QW dog (Surface Acoustic Waves)

Question Number : 16 Question Id : 2549898176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is used to gain unauthorised access to a network by impersonating a source with authorised access.
Options :
1. % E-mail spoofing
2. % IP spoofing
3. # Biometric spoofing

4. % App spoofing

Question Number : 16 Question Id : 2549898176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B 3UANT G d TR AT HId BT UTeReU U] HRab [l Head o SARIGd TR UK - & forg far sran |
Options :

1. % S0d g

2.+ 1P O

3. % SEAAeH T

4. % U Gt

Question Number : 17 Question Id : 2549899468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to printers, which of the following is used to store information and release it whenever needed at a required rate?
Options :

1. # setup

2. % cable

3. % buffer

4. % model

Question Number : 17 Question Id : 2549899468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
m;mﬁﬁ,mﬁﬁwmﬂwﬁﬁmmﬁﬁvwmwwamsﬁmm%ﬁum
ITdl 8?2

Options :

1. % geam

2. % dad

3. % I

4. % Olgd

Question Number : 18 Question Id : 2549899483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

A dot matrix printer uses a type of paper with punched along each side.
Options :

1. % dots

2. % holes

3. # characters

4. % lines

Question Number : 18 Question Id : 2549899483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sic Afeay fifer, Td® ver @) R dferd fory g¢ OWR SUAiT SR B
Options :

1. % 8lc

2.+ 5% (gleq)

3. ® 3f&R

4. % Ufad

Question Number : 19 Question Id : 2549899584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In printing, DPI stands for:

Options :

1. % Density Per Inch

2. %" Dots Per Inch

3. % Dot Per Intensity

4. % Density Per Image

Question Number : 19 Question Id : 2549899584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fiife & pp1 &1 qUf U T F?

Options :

1. % Density Per Inch (@ﬁ—a R )

2. % Dots Per Inch (E:IJEEUTQ'_'&D

3. % Dot Per Intensity (ﬁﬁwm
4. % Density Per Image (SC] TR 3HW)

Question Number : 20 Question Id : 25498910793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a page description language (PDL) that is specially developed to offer efficient and effective control of printer features
among various printing devices.

Options :
1. % PCL
2. % PRL
3. % PML
4. %= PDL

Question Number : 20 Question Id : 25498910793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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T gy faaror | (PDL) & SR faxiw =0 3 faftys fife Suaun & ot fifex giaensit & e ok uuTd! o & forg

fawRid foran T g1

Options :

1. % PCL

2. # PRL

3. % PML

4. % PDL

Question Number : 21 Question Id : 25498911256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The ability of AM receiver to select or accept wanted desired band of frequency and reject all other unwanted is referred to as

Options :

1. % sensitivity
2. % selectivity
3. % guitability
4. % stability

Question Number : 21 Question Id : 25498911256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AM @R &t gifesd SMafy oS & g a1 SR T3 BT &l 3R 3= Joft sfaifesd o) sRdfidR FHreT CREASIE)]
ST g

Options :

1. % AR (sensitivity)

2. % JUATHD T (selectivity)

3. % 3UYdddT (suitability)

4. % TR (stability)

Question Number : 22 Question Id : 25498913400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to image formats, JPEG stands for:
Options :

1. % Joint Photographic Experts Gang

2. % Joint Photographic Engineers Group

3. %" Joint Photographic Experts Group

4. # Joint Photographic Engineer's Gang

Question Number : 22 Question Id : 25498913400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AW TRl & e H, JPEG &1 QU1 &4 1 82

Options :

1. % Joint Photographic Experts Gang (WWW%)

2. # Joint Photographic Engineers Group (\_rlﬁ_c' WW%
3. % Joint Photographic Experts Group (Gﬁ‘s”‘c’ BIcHthe m q9)

4. %= Joint Photographic Engineer's Gang (\‘rr‘l’%‘c' BICIhd® gﬁlﬁﬂﬁﬁﬂ)

Question Number : 23 Question Id : 25498913465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Video signals exhibit yet another form of statistical redundancy and that is:
Options :
1. % gpatial redundancy
2. % temporal redundancy
3. % gpatial as well as temporal redundancy

4. % neither spatial nor temporal redundancy

Question Number : 23 Question Id : 25498913465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

difsar Rwa gifereta sifavear (statistical redundancy) I U 3R ¥y yeiid #a %’ 3R qgg %I
Options :

1. % Wrirefd Rt

2. & THIRY Rl

3. % WTiRrerd Re==t & A1y 91y criRd Rt

4. % 74 WIS 1 8 R Res-=4t

Question Number : 24 Question Id : 25498918478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you want to print an image from a web page, then what is the correct way to do it?

Options :

1. % Open a webpage -> select an image -> press Ctrl + P -> select ‘image’ only

2. % Open a webpage -> right click on an image and select 'open in new tab' or 'open image' -> press Ctrl + P -> say ok/enter
3. % Open a webpage -> left click on an image and open in new window -> press Ctrl + P -> say ok/enter

4. % Open a webpage -> press Ctrl + P -> say ok/enter

Question Number : 24 Question Id : 25498918478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fe 31T 9 O ¥ foreit S0 1 flie 311 216 & ol $9 X 1 Tg) axih] T g

Options :

1. % JEUST @A -> SHS 999 X -> Ctrl + P GETY -> HAd ‘image’ BT g9 PR |

2. %" g0 @idi -> A IR T3¢ [Fad B Gﬁq'open in new tab' Ul 'open image'a?—fa'q:fﬁ—> Ctrl + P GET -> ok/enter PR |
3. % J9US Widt -> 3HO IR AYE foad & SR 1T fdST H @il > Crl + P GETT -> ok/enter B |

4, % U Wi > Ctrl + P GdE > ok/enter P |

Question Number : 25 Question Id : 25498918564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to switch to the last tab of the Chrome browser?
Options :

1. # CTRL +L

2. % CTRL+9

3. % ALT+9

4, ® CTRL+0

Question Number : 25 Question Id : 25498918564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I SR & 3ifaH ¢d R aa T & o 5 1 3 ford pials Tcdhe BT SUanT b S g2
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Options :
1. %= CTRL+L
2. % CTRL+9
3. % ALT+9
4., % CTRL+0

Question Number : 26 Question Id : 25498920738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to the internet, what is the full form of VPN?
Options :

1. # Virtual Proxy Network

2. % Virtual Private Network

3. % Valid Private Network

4. % Virtual Portal Network

Question Number : 26 Question Id : 25498920738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
$oxe & ey 8, VPN &1 gUf U R 52

Options :

1. % Virtual Proxy Network (G?I\’ﬂ?f giait ﬁﬁ?%)
2. % Virtual Private Network (ﬁ\ﬂﬁ mgé‘cf W)
3. % Valid Private Network (3&15 Ulgdc "ICCIGF?)

4. % Virtual Portal Network (a’é&ra thfa'frc’a’a%)

Question Number : 27 Question Id : 25498922032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Key Reinstallation Attack (KRACK) is a complex attack against the protocol.
Options :

1. = TCP

2. %= 1P

3. %" WPA2

4, %= HTTP

Question Number : 27 Question Id : 25498922032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B A3=ETAT 3P (KRACK) Hielpid & [a%g Th Sifed gHal gial 3|
Options :

1. = TCP

2. =P

3. %" WPA2

4. %= HTTP

Question Number : 28 Question Id : 25498924175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A 64 bit operating system supports:

Options :

1. % 2 hexabytes of RAM to process the data
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27/02/2023, 16:18 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

2. % 4 hexabytes of RAM to process the data
3. # 8 hexabytes of RAM to process the data
4. % 16 hexabytes of RAM to process the data

Question Number : 28 Question Id : 25498924175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

64 e iR Ren 1 adid e &
Options :

1. % ST P U B & o0 2 RRAEZT XA
2. % ST HI UIAY B & T 4 SRIEZT XM
3. % 3T P YN FH=A & iU 8 RIEIZCH WA
4. + T B YA B & ATT 16 TRIETZCH WA

Question Number : 29 Question Id : 25498925403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which UPS is the best option for mission-critical systems?
Options :

1. # Line interactive UPS

2. % Multimode UPS

3. %" Double-conversion UPS

4. % Standby UPS

Question Number : 29 Question Id : 25498925403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIF-41 UPs, M- eyl yunfertt & fow ga st fawea 32
Options :

1. ® T3 $eXfded UPS

2. % HCHHIS UPS

3. ¥ SA-BH- UPS

4. ® WSI™ UPS

Question Number : 30 Question Id : 25498925444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following stores the cut or copied texts in MS-Word?
Options :

1. % Footer

2. #® Header

3. # Table

4. % Clipboard

Question Number : 30 Question Id : 25498925444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faffad & 9 $1F-91, MS-Word B % 1 H1Ul ot U CRE BT TR Bl 5?2
Options :

1. # R

2. % g
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3. % ¢qd
4.+ fFaUers

Question Number : 31 Question Id : 2549896495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first graphical browser for the WWW was named:
Options :

1. % Netscape

2. % Veronica

3. % Mosaic

4. % Lynx

Question Number : 31 Question Id : 2549896495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WWW o foTT Ugel Wifthebel SR ! T =11 fem am r2
Options :

1. = W(thscapc)

2. - aﬂﬁéﬁT(Veronica)

3. KW(Mosaic)

4. % foig (Lynx)

Question Number : 32 Question Id : 2549896660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Internet is an example of

Options :

1. % PAN

2. # MAN

3. % WAN

4. % LAN

Question Number : 32 Question Id : 2549896660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
EAE P TP I G|
Options :

1. %= PAN

2. & MAN

3. % WAN

4. % LAN

Question Number : 33 Question Id : 2549896755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a plug-in?

Options :

1. % It is a computer software that adds new functions to a host program without altering the host program itself.
2. % Tt is a computer software that allows to find and view websites on the internet.

3. % It is a computer program to filter unwanted e-mail messages.

4. % Tt is a computer program to delete cookies, browsing history, etc.
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Question Number : 33 Question Id : 2549896755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WIT-3 (plug-in) FT 82

Options :

1.+ T8 TP SR AIFeaTR 3 SNl ERe WRITH &1 T 9 T Eive W & T thar S 8|
2. % U8 U SR AW § Ol §eR-¢ TR JqUTZe] I WioH 3R 3/ Bt S ST 3|

3. % Tg IiRd -0 T Bl freex HA & oy T poger MU B

4. % Ug PobIv, TSN BT 3n1fe &l fEciie v & o v Foger T B

Question Number : 34 Question Id : 2549897205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Google calendar labs, keeps a track of time around the world.
Options :

1. %" world clock

2. % period clock

3. % schedule clock

4. % track clock

Question Number : 34 Question Id : 2549897205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T Haex ooy H, o g & IHT W AT (track) T B
Options :

1. % I08 Fald

2. % YIRTS il

3. % QSA (D

4. % CH aAD

Question Number : 35 Question Id : 2549897394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following function key is used to choose the Save As command in MS-Word 2019?
Options :

1. ® F11

2. ® F10

3. % F12

4. % F4

Question Number : 35 Question Id : 2549897394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 T ‘39 TH (Save As)’ HHIS Bl T4 & foTT o BRI groit T SUTNT 32T STl 82
Options :

1. ® F11

2. ® F10

3. % FI12

4, ® F4
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Question Number : 36 Question Id : 2549897425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Web Layout option is available in which of the following tabs of MS-Word 2019?
Options :

1. % Review

2. % View

3. % Design

4. % References

Question Number : 36 Question Id : 2549897425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 A3M3e fIBeT MS-Word 2019 & by 9 H IUT= 22
Options :

1. % R (Review)

2. % Y (View)

3. % %Gng'_‘T(Design)

4, % VBT (References)

Question Number : 37 Question Id : 2549897433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Drop cap function is available in which of the following tabs of MS-Word 2019?
Options :

1. % Insert

2. % Menu

3. % Layout

4. % View

Question Number : 37 Question Id : 2549897433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

10 HY HaRM MS-Word 2019 & Fgfeiad # § frg oo & Suds 32
Options :

1. % $IC (Insert)

2. = ﬁ:‘[(l\/lenu)

3. ® TAH3C (Layout)

4. % Y (View)

Question Number : 38 Question Id : 2549897918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to customer purchases, POS stands for:
Options :

1. %= Point Of Scale

2. %" Point Of Sale

3. % Position Of Scale

4. % Position Of Scaling

Question Number : 38 Question Id : 2549897918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
e WG & gl H, POS &1 0T &9 &1 82
Options :
1. % Point Of Scale (tﬁ%_c' 317'55@%1)
2. % Point Of Sale (TT3¢ 3% Iq)
3. % Position Of Scale (USRI 3T THd)
4. % Position Of Scaling (UTSTR 3 TWh{eiT)

Question Number : 39 Question Id : 2549898113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you have several evenly spaced numeric labels, especially years, then chart is the most suitable chart type in MS-Excel.
Options :

1. ¥ radar

2. % line

3. % surface

4. ® pie

Question Number : 39 Question Id : 2549898113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel H A& 3MTU% U THM g3 (T0) & s TATHS dad faemH &, fady wu 3 e, at T7¢ qatfiies Iugad
UHR 1 91C g1l |

Options :

1. #¥ ISR

A ANIEE]

3. % by

4. ® UMY

Question Number : 40 Question Id : 2549898131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true in case of Line chart in MS-Excel?

Options :

1. %" This chart can show continuous data over time on an evenly scaled axis.

2. % This chart shows the size of items in one data series, proportional to the sum of the items.
3. % This chart is useful when you want to find optimum combinations between two sets of data.

4. ® This chart can show fluctuations in stock prices.

Question Number : 40 Question Id : 2549898131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel H @18 AT1¢ & AT H HIH-91 BT T8t 82

Options :

1. % T8 91C I =0 ¥ Whdl fHT 7T 38 TR 90T & 91 FRER Sel e aawar g

2. % I I U STl Jal & 31geH &1 3R AT &, S 3M1geH & AN & JHIUR giar 8|
3. % U I1¢ a9 IUART SIaT § 5IF M0 ST & &l I & srd IPTH Tor WioHT I18d g |

4. % g T Wik P! Bl H SAR-TIGIT 7T ThaT g

Question Number : 41 Question Id : 25498910494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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We can enable or disable various options for capitalisation on the in MS-Word 2019.
Options :
1. %" Auto Correct tab
2. # (Case change tab
3. % Capitalization tab

4. % Customize tab

Question Number : 41 Question Id : 25498910494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TAMS-Word2019" TR hfcemzwieH & fore fafid fasedl o) afohdr (enable) a1 34134 (disable) TR Tobd & |
Options :

1. % 3l Iae ¢F

2. ® HY IS T

3. ® BUCAZORM ¢d

4. % PHXAZS ¢q

Question Number : 42 Question Id : 25498910563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ohserve the given figure and find which of the following styles of margin setting i it as per the spacing in

Bs-Wagd 2014,

H !l
Options :

1. % Mirrored
2. % Normal
3. % Narrow

4. % Moderate

Question Number : 42 Question Id : 25498910563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
21 Mg MR @ e AN Ms-word 2016 T WM & orEn mifel @i @1 feiaea § § Rl
el B, wg gl

Options :
1. % iR
2. ® Fidq
3.9 R
4, % Hige

Question Number : 43 Question Id : 25498910578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Deepthi wants to apply indent but she was unable to find the vertical ruler in MS-Word 2019. In such a case, she has to go to the File
tab, choose Options > Advanced, and under , select the Show vertical ruler in Print Layout view check box.

Options :
1. %" Display
2. # View
3. % Layout

4. % References

Question Number : 43 Question Id : 25498910578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST 3T (indent) B TR BT T84T & AP I8 MS-Word 2019 H IR Fer Wom & 3qaef off, O 39 A H, I wigd
TR EﬁTIT, Options > Advanced T T W, F il , Show vertical ruler in Print Layout view AP FIGY BT IIT
HAT BRI

Options :

1. # fSowt (Display)

2. % F (View)

3. ® QAT (Layout)

4, % IHY (References)

Question Number : 44 Question Id : 25498910715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does Ctrl + H in MS-Word 2019 perform?

Options :

1. % Open insert hyper link dialog box

2. % Open insert dialog box activating insert hyperlink tab

3. % Open Find and Replace dialog box with the Replace tab activated

4. % QOpen format dialog box activating insert hyperlink tab

Question Number : 44 Question Id : 25498910715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H, Ctrl + H &1 SBTH Rl 82

Options :

1. % 3¢ BIWRNIP SN Sl Waar g |

2. % 3¢ BIIWRIID ¢ & fhariid B 39 SN Slay Wierdl g |

3.« BIEs 3R N Sa Sieg WiadT § iR Ry ¢ & forarita srarg|
4. % 3¢ TRWIfeIP o9 B! fpamfia Hrb Bife SN siay Wadi g

Question Number : 45 Question Id : 25498911476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A adds extra space to the side margin, top margin, or inside margins of a document that is planned to be bound.
Options :

1. % gutter margin

2. % top margin

3. % left margin

4. % paper size

Question Number : 45 Question Id : 25498911476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

, T QI (STergiie) g (ar) i, < (i) mRf, o ofeR & (g s) i # arfoa =i (<)
aﬁw%ﬁ@r T3S B B AT |

Options :

1.« TTex /IS

2. % g Ao

3. ® g (Qe) |l
4. % gR A

Question Number : 46 Question Id : 25498911874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Below are the steps to turn on the track changes. Arrange them in the correct order.

a) On the Review tab, in the Tracking group, click the Track Changes button. The Track changes button becomes highlighted.
b) Open the document that you want to revise.

¢) Make the changes that you want by inserting, deleting, moving, or formatting text or graphics. You can also add comments.
d) Optional. Add a track changes indicator to the status bar. Right-click the status bar, and click Track Changes. Click the Track
Changes indicator on the status bar to turn on or turn off track changes.

Options :

1.%b,a,d, c
2. % b,a,c,d
3. % b,d,a,c
4. ® b,c,d,a

Question Number : 46 Question Id : 25498911874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g1 ¢ URGcH! (track changes) 1 AT B & H& dRUN DI o1 HH & ST T §, 3= Tal v H FHafyd H |

a) RY T W, 71 Tg H, T AW g W faads H¥ | ¢ ol ge gIRarge gl S|

b) I STHIHT B Gt o ST TN (revise) BT 18 B

¢) TRE T MHa ST, T, RIMIART B a1 BIRUC B & [T aifesd URad H2 | 3T ey i s Iha B
)WW%@WWﬁ%%W(trackchanges 1ndlcator)aﬁaTa|@EFWWﬂ3_d Wﬁ G?IT%%IWWW
FY| 2P I ) AT §E FA F [T V¥ IR R 25 ol 2fSPpex R s w1 |

Options :

1. % b,a,d,c

2. ®b,a,c,d

3. % b,d,a,c

4. % b,c,d,a

Question Number : 47 Question Id : 25498912483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to 'Header' in MS-Word 2019?

Options :

1. % Animage or text that appears behind the main text of the document.

2. # It is a repeating text that appears at the bottom of every page of your printed document.

3. # Tt is a large capital letter used as a decorative element at the beginning of a paragraph or section.

4. % It is a repeating text that appears at the top of every page of your printed document.

Question Number : 47 Question Id : 25498912483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 ¥, Fafeifad & & SH-41, RS (Header) B G id Bl 82
Options :
1. % TSP A 1 TRE ol Sx1ael (STagHe) & T Tae & Ui foars St j1
2. % g U GIER1d ATell oae ¢ ot 3T fiie s axamaet (Siagie) & Udid U & =i fewrs Tar §
3. % Jg P 981 hided 31eR gl § e SWHTe RENE 1 YoM &1 YE3MTd H Follae! dd & U | f6a1 ST g |
4. + U8 U GIgx1d d1dl CRE g Sl 310 fiies gxarael (Slagiic) & Ud® gy & XY | feums aar g

Question Number : 48 Question Id : 25498919189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an option of Home tab in MS-Word?
Options :

1. ¥ Font

2. % Paragraph

3. % Table

4. % Styles

Question Number : 48 Question Id : 25498919189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFofafea @ DI-TT MS-Word & _E?II[ L (Home Tab) o1 fame gl %‘?
Options :

1. # I (Font)

2. % IREG (Paragraph)

3. % CHd (Table)

4. ® WIS (Styles)

Question Number : 49 Question Id : 25498925297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many MS-Word documents can a user open at the same time?
Options :

1. ¥ As many as the taskbar can accommodate

2. %" As many as the computer operating system can handle

3. % Only one

4. % Not more than three

Question Number : 49 Question Id : 25498925297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BWW@W'-&WMS-WOMW(documents)@aW%?
Options :

1. % 3 g1, o 31 eRepaR JHTRTT R I 3|

2. % I B, FIa R SIToRfeET Red WuTd Tabvel & |

3. % Had Th

4. % TH 9 YD 5T

Question Number : 50 Question Id : 25498925321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the default page orientation of MS-Word 2010?
Options :
1. % Portrait
2. % Landscape
3. % Broad
4. % Wide

Question Number : 50 Question Id : 25498925321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2010 &1 fEThTee Uet SHRUCTH &1 82
Options :

1. % Uice

2. # TSWHY

3. % §le

4. ® dIgs

Question Number : 51 Question Id : 25498925494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a text function of MS-Excel 2019?
Options :

1. % RIGHT

2. % LEFT

3. % MID

4. % AND

Question Number : 51 Question Id : 25498925494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FAfEd o ¥ DIF-91, MS-Excel 2019 BT ¢aRe Ha—H g1 52
Options :

1. % RIGHT

2. ® LEFT

3. ® MID

4. % AND

Question Number : 52 Question Id : 25498933749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is FTP used for?

Options :

1. % FTP is used for uploading files only.

2. #® FTP is used for downloading files only.

3. %" FTP is used for both uploading and downloading files.
4. % FTP is used for deleting files.

Question Number : 52 Question Id : 25498933749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FTP T IUTNT fopdap forw fopam Siram g2

Options :
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1. ® FTP &1 IUAN Had BI3d! B TS B & fort foram Srar g |

2. % FTP &1 SUUNT Had BIEdl B SIS B & fort foram Srar g |

3. % FTP &1 SUUNT BISdl B 3UAIS B 3R SIS B Gl & 1o18 fopar Srar g
4. % FTP B ITANT BI3d! & fSaile B & e far Sran g |

READING COMPREHENSION

Section Id : 2549896960
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897001
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921175 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

It was during the American War of Independence that one day George Washington was riding along a road, dressed not like a general
but like an ordinary gentleman. On the way, he saw some soldiers trying to lift a heavy beam on to a bank. There was a corporal, a petty
officer, with them who shouted loudly giving them orders every now and then. Washington stopped there to watch the soldiers. They
did not know he was Washington, the General. The beam was too heavy for the soldiers to lift. Although they strained very hard to lift
it, they could hardly move it. They needed just one man more to help them. But the corporal offered no help and kept calling, 'Push it!
Pull it! Lift it!"

Washington watched the poor soldiers for some time and then turning to the corporal said, "Why don't you help them to lift the beam?"
The corporal at once turned round and said, "Don't you know, Sir, I am a corporal." Washington replied, "I beg your pardon, Mr.
Corporal, I didn't know that you were such a great man." Then he at once got off his horse, took off his coat, pulled up the sleeves of his
shirt and pulled at the beam with all his might. With his help, the soldiers were at once able to lift the beam onto the bank. The Corporal
remained standing and did not care to help. Washington then put on his coat, got upon his horse again and said, "Mr. Corporal, if in
future you have some difficult work to do and don’t have enough men with you, you send for your general. He will not think it beneath
his dignity to help the poor soldiers in their work." It was now that the corporal realised that Washington, the great general was speaking
to him. General George Washington later on became the first President of the United States of America.

Sub questions

Question Number : 53 Question Id : 25498921176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At the time when the incident given in the passage took place, Washington was:
Options :

1. # the President of the USA

2. % an ordinary gentleman

3. % a petty soldier

4. % an army general

Question Number : 54 Question Id : 25498921177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Which of the following statements is FALSE?
Options :
1. % The soldiers were trying to lift a beam on to the bank.
2. % The soldiers were straining very hard to move a beam.
3. % The soldiers were asking the corporal to help them lift the beam.

4. % The soldiers were taking orders from the corporal.

Question Number : 55 Question Id : 25498921178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The passage clearly shows that Washington:
Options :

1. % loved to ride horses

2. % did not consider any job beneath him
3. % showed respect to the officer

4. % liked to do his own work

Question Number : 56 Question Id : 25498921179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Don’t you know, Sir, I am a corporal.” This statement shows that the corporal was a:
Options :

1. % great man

2. % senior officer

3. %" high-headed man

4. % petty officer

Question Number : 57 Question Id : 25498921180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

That Washington was indeed a great general can be ascertained from the fact that:
Options :

1. % he was riding in plain clothes

2. % he stopped to watch the soldiers

3. % he asked the corporal to help the soldiers

4. % he helped the soldiers to lift the beam

Question Id : 25498921175 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

fu U MR 1 U 3R ISP SMYR R U P IR S|
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TR 38 gL I ST T AT | iRATe Afah Bl 3 & fore 98t ¥ M| I8 et ud U1 fb a8 SR aiiRiTe | a8 iy agd
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TUI SRR TST 6T 3R 3 Hag 3 B URaTe et | IRiTe 3 fbR 301 Pie Ue, fbR @ 30 91 W 96 71T 3R &,
noffT SfIBRY, 3R Hia® T ST U a1 Y BTH 8 3R 3T U Uit 4 <181 §, Y 31T 31U SRl ! §all of | T4a
P I BT HaE B B FRIY a8 S1u TRH I AR e R "3q BRI DI TEUN g3 b A SR aIRNTeH 394
1A B X1 | SR Sifel a1RFTeH, S16 H Y sy SARDT & Ugd gyl a1

Sub questions

Question Number : 53 Question Id : 25498921176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I U e TR H §dTS T8 e gs, a9 ankired 9
Options :

1. % TG I SHRBT & AFULd |

2. % U HIYURU Ui |

3. % U& Bl ¥ I |

4. % U YA R4 |

Question Number : 54 Question Id : 25498921177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 SY= § I HH-91, Ted 52

Options :

1. % Y% 96 IR TS 911 IS B DI HR T A

2. % I S B ARG A & oY 9gd B3 TR A
3.« SF®! 3®! Tee A & g Ve 3 g8 38

4, % P SATIHRY F SR T T U

Question Number : 55 Question Id : 25498921178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TRITY ¥ U Y U8 9Tl § [ airRiTe:
Options :

1. ¥ US| Bl AR HAT U4 AT

2. ¥ D13 W B BleT 51 o Y|

3. % 9 SR & Ul TH fg@mn|

4. % B U BTH H1 THE 7|

Question Number : 56 Question Id : 25498921179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"R T 3TY e} ST, Heied, b 7 Ue S g1, a8 sy adrar g [ sfieriues
Options :

1. % HEH MeH!

2. % IRy BRI

3. % Gt (SEDPRN)

4. % Bl AU

Question Number : 57 Question Id : 25498921180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JIRITeH IRad § e T oRd 3, FoeT 58 0 ¥ UaTl TR off Javdl § (-
Options :

|. ® 98 UIe HUS H aR! &R |1 T
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QUANTITATIVE APTITUDE
Section Id : 2549896961
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897002
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T T 1 9 e w R y atee H oy g () S Wit T e o

(7P w60+ (TP +71=(7) —431
Options :

1.« 11
, w (133
3. % 13

4w T

Question Number : 58 Question Id : 25498914316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option thar can replace the question mark (7 in the given equation.

(27P X694+ (TP +71 = (7P —431
Options :
1. w11

) w (137

5 %13
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4w (11)°

Question Number : 59 Question Id : 25498928888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T wiET A RS o 524, W o 644 AN IR & 74% 3 wim T winn @ sfheaw s 750
#1 O wEH gE Wea fhr w dtes s e 87

Options :
1.« 475

2. u 485
3. % 450

4 % 490

Question Number : 59 Question Id : 25498928888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In an exam, Ritiz scored 52% marks, Sunil scored 64% marks and Ravi scored 74% marks. The maximum marks for the exam are 750.
What are the average marks scored by the three boys together?

Options :
1. %475
2. % 485
3. % 450
4. % 490

Question Number : 60 Question Id : 25498928914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 Thed @ 909 @4 Wl B Y im0 0y R (7) @ Wieenid w1 g@da 8

V3136 -+ 064 x 252 = (7)1 % 36
Options :

1. %= 81

2. # 64

3. % -8

4. % -7

Question Number : 60 Question Id : 25498928914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that can replace the question mark (7) in the given equation.
v31.36 = 064 x 252 = (7)° x 36

Options :

1. % 81

2. % 64
3. % 8
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4. % -7

Question Number : 61 Question Id : 25498928979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I TWRAT D1 UgdH B3 ol &1 T3 gl § e g |
155, 151, 139, 119, 90, 55

Options :

1. %55

2. %119

3.% 90

4. % 139

Question Number : 61 Question Id : 25498928979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the number that is INCORRECT in the given series.

155, 151, 139, 119, 90, 55
Options :

1. =55

2. %119

3.% 90

4. %139

Question Number : 62 Question Id : 25498928984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

#hr i o T Wy of B v oma oty e w0, 1 Al 0 R e
T @ (&) F99 WA F 3000 o4 F AT w=aw §(E)7

L
T 1 IoAE A F BT

T

1. T # TEEE g IR 5 & A d A

1L TS 59 9 & 4 99 78 8

0. 1% 3% @1 TfdE & 1Y IOy & & 30 5T & g & oot g s

Options :

s 10 FE 0 e

, w OF B E FE
3w Al AT # & E At & W We W ST a0 B A wea

4 o e | E

Question Number : 62 Question Id : 25498928984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A cuestion is given, followed by thies starements 1, I and L1 [dentify which of the statements are sufficizant and
necessary to answer the question,

Cuestion:

What is the prézent age of Radhika?

Statements:

L. Badhika®s present age is ;1 of her mother's present age.

T1. Radhika is older than her brother by 4 years.

II1. After 4 vears. Radhika’s age will be :j of her mother’'s age at that time.

Options :
1w All statements [ 11 and 111

5 % Any two of the three statements.
3 u 1he gquestion cannot be answered even with the information given in all three statenents.

4. » Only statements T and IT1.

Question Number : 63 Question Id : 25498929483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
lan2® tan 3% ke 457 land T lan BE°
[5m2 28" + car®8 1] +dmn® 817 + o230

Options :

.= 0

F TR FTE F=ETI

2. % 1

P =

3. %

Question Number : 63 Question Id : 25498929483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Leirr 2% Lo 3" Laom 457 Do BT Lo BB™
The valuwe of —— e = i5::
[2in=39" + coy=51") + (sin=51"4coss 397

Options :
1. ® 0
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1
3.9 2

1
4. W %

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549896962
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897003
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 64 Question Id : 25498910056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following words, which one will come second if they are arranged as per their order in an English dictionary?
Options :

1. % Litter

2. %" Literature

3. ® Literary

4. % Littoral

Question Number : 64 Question Id : 25498910056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%r&nr%?”&f%aﬂfr%ui%mﬁmaﬁﬁwmaaﬁm%wavmﬁm@mmw%ﬁgﬁwmﬁmw
o

Options :

1. % Litter

2. % Literature

3. % Literary

4. % Littoral

Question Number : 65 Question Id : 25498914072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A group of letters is given; the letters are indexed as (a), (b), (c), (d), (e), (f) and (g), respectively, from left to right. Arrange the letters
properly to form a meaningful seven-letter word and indicate the index of the last letter as your answer.

msnnyy o (a)(b)(c)(d)(e) () (2)
Options :
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1. % (a)
2. % (b)
3. % (¢)
4. %= (d)

Question Number : 65 Question Id : 25498914072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3R} BT U THg a1 T B, 31&R U AT Y QMY (a), (b), (¢, (d), (¢), () 3R (g) P T4 H T ford T § | A1 34T &1 U
m%wa:nﬁ%ﬁma@ﬁm@aﬁﬁvﬁw%wﬁaﬁna&%wﬁgﬁaﬁ|

msnnyyo(a)(b)(c)(d) (e) () (g
Options :

1. % (a)

2. % (b)

3. % (¢)

4. % (d)

Question Number : 66 Question Id : 25498919662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given set of words.

Morning : Evening : Dusk

Options :

1. # Triangle : Quadrilateral : Pentagon
2. % Happy : Go : Excited

3. %" Summer : Winter : Autumn

4. % Botany : Zoology : Physiology

Question Number : 66 Question Id : 25498919662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o vy § 7o 18 U fRu T € S forel =0 & Uop-gak | Faifda €1 -9 3y 70 O ol # @ ue #, fou U wreg 3 a8t
ey g1 T8l fahed 1 Udr oy |

e : W : I

Options :

1. % By s : days

2. h@:mﬁa:ﬁﬁrﬁ

3. W g : Idf - uazrs

4. % g fagm - voft fagm - <RR foran fagm

Question Number : 67 Question Id : 25498919827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. ® Asia

2. %" Argentina

3. % Affica

4. % Australia
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Question Number : 67 Question Id : 25498919827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e TR e fy 78 € I @ <t e, et oitich A Ueb-THIH 07 a1l § Tkl bTS U w1l Ve S i & et &1 37 ot
(3{ls d-) Rsq DT UdT L |

Options :

1. % TRmn

2. % SSICHT

3. % 3fpidT

4. % 3fReferm

Question Number : 68 Question Id : 25498919828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. = Tea

2. % Cinchona

3. % Rubber

4. % Chalk

Question Number : 68 Question Id : 25498919828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A R e fow e ¥ S @ i e fopet oieb Wb U1 ATl § A 1 U AT ed O i 9§ e 1 S fir
(3118 d-) e T Yl ¢ |

Options :

1. %9

2. & e (et B1d I $-4 97 §)

3. ®# 38

4. % dlh

Question Number : 69 Question Id : 25498927367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Vind the numbers of tniangles in the given figurs.

A

Options :
. %5
2. %6
3.% 8
4. %10

Question Number : 69 Question Id : 25498927367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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ol 112 ikl & el & s g1a alfau)

Options :
1. %5
2. ®6
3. %8
4. %10

GENERAL AWARENESS
Section Id : 2549896963
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897004
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 70 Question Id : 2549899839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RIFATE! B BT 3R Y 1927 & FHH H §U BN S SIS RMAIRCH H DI M gor Um?
Options :

1. ¥ GG A5%

2. % HETAT it

3. % I 3

4. % Tdiad T8

Question Number : 70 Question Id : 2549899839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who attended the Congress of Oppressed Nationalists at Brussels in 1927, on behalf of the National Congress?
Options :

1. % Jawaharlal Nehru

2. % Mahatma Gandhi

3. % Dr Ansari

4. % Motilal Nehru

Question Number : 71 Question Id : 25498912530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® Py

2. % N1 ()

3. ® HSigH

4. % IMTFH

Question Number : 71 Question Id : 25498912530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ground water in the Bengal basin is mostly contaminated by:
Options :

1. % chromium

2. % lead

3. % cadmium

4. % arsenic

Question Number : 72 Question Id : 25498912765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I Sigeic o W 9 § § ford I & I1 ST 52
Options :

1. % gobaTall

2.+ fohde

3. ® M

4. % RIBE

Question Number : 72 Question Id : 25498912765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With which of the following games/sports is Geoff Boycott's name associated?
Options :

1. % Boxing

2. %" Cricket

3. % Golf

4. = Swimming

Question Number : 73 Question Id : 25498932121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrafafea o 4 fora St &1 firar a8t 76t 82

(cfRT) (Sa)

(a) 3T YT - SBI

(b) FAl HTHY - ICICI
(c) 3T& G - HDFC
(d) fawy Ufsd - IDBI
Options :

1. % (a)

2. % (b)

3. % (¢)

4. % (d)
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Question Number : 73 Question Id : 25498932121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of individuals and the banks they are associated with is NOT correctly matched?

(a) OP Bhatt - SBI

(b) KV Kamath - ICICI
(c) Aditya Puri - HDFC
(d) Vikram Pandit - IDBI
Options :

1. = (a)

2. % (b)

3. % (¢)

4. % (d)

Question Number : 74 Question Id : 25498932504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HRd H Ugdll SN fayfdered dgi wiTud fobar mam
Options :

1. ¥ PARIS, Bholldlg

2. % UdTR, STRIES

3. ® PR, IR U

4, ® 3, TGN

Question Number : 74 Question Id : 25498932504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where was the first agriculture university of India established?
Options :

1. ® Kumarganj, Faizabad

2. % Pantnagar, Uttarakhand

3. % Kanpur, Uttar Pradesh

4. % Naini, Allahabad

Question Number : 75 Question Id : 25498932602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RIS g SHfepRuT ST, 2010 HRATY WG & 574 9 fobdt UTae o SgAR SifAf-rafid fovar

1) TG 21 & A Sfia- & PR & U & T9 T W TITaR0T & SHABR

2) 3FQ 275(1) b il SFTY[RIT STSIITra & SHedrur db fefy SFEfed &= H U= &R Ieid S & T e o Ura |
3) 3TC 243(A) P SfTd IeaRAd UTH HT Pt Wit 3R Hrd

f3T T DTS BT IUANT B e fabed I |

Options :

1. % $ad |

2. % $HId 2 3R 3

3. % Had 1 3R 3

4. % 1,23R3

Question Number : 75 Question Id : 25498932602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In consonance with which of the following provisions of the Constitution of India was the National Green Tribunal Act, 2010 enacted?

1) Right to healthy environment, constructed as a part of Right to life under Article 21

2) Provisions of grants for raising the level of administration in the scheduled areas for the welfare of scheduled tribes under Article

275(1)

3) Powers and functions of Gram Sabha as mentioned under Article 243(A)

Select the correct option by using the given codes.

Options :

1. % Only 1

2. % Only 2 and 3
3. % Only I and 3

4, % 1,2and 3

English Mock
Group Number : 2
Group Id : 2549894422
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

English Mock

Section Id : 2549896964
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897005
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498941117 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and
children have fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted
Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes
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Highlight Correct or Incorrect Words : Yes
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English Actual

Group Number : 3

Group Id : 2549894423
Group Maximum Duration : 15

Group Minimum Duration : 15

Show Attended Group? : No

Edit Attended Group? : No

Break time : 3
Mandatory Break time : Yes
Group Marks : 0

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

English Typing Test

Section Id : 2549896965
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897006
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498937910 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

The hydrosphere is the combined mass of water found on under and above the surface of a planet or minor planet or natural
satellite. Hydrosphere on Earth has been around for about four billion years and it continues to change in shape. This is caused
by seafloor spreading and continental drift which rearranges the land and ocean. The frozen part of hydrosphere is made of ice.
The frozen part of the hydrosphere has its own name the cryosphere. The water cycle refers to the transfer of water from one
state or reservoir to another. Fresh water sources contain rivers or lakes and rain whereas saline water sources contain oceans
and seas along with these two sources other reservoirs are groundwater and polar ice caps. Solar energy in the form of heat
light and gravity cause the transfer from one state to another over periods from hours to thousands of years. Most evaporation
comes from the oceans and is returned to Earth as snow or rain. Sublimation refers to evaporation from snow and ice.
Transpiration refers to the expiration of water through the minute pores or stomata of trees. Marq de Villiers has described the
hydrosphere as a closed system in which water exists. De Villiers claimed that on Earth the total amount of water has almost
certainly not changed since geological times so what we had then we still have now. Water can be polluted and abused or
misused but it is neither created nor destroyed it only migrates. There is no strong evidence that water vapour escapes into
space. Water is a basic necessity of life. Two third of the Earth is covered by water. The Earth is also called the blue planet and
the watery planet. The hydrosphere plays an important role in the existence of the atmosphere in its present form. Oceans are
important in this regard. When the Earth was formed it had only a very thin atmosphere rich in hydrogen and helium similar
to the present atmosphere of Mercury. Later the gases hydrogen and helium were expelled from the atmosphere. The gases and
water vapour released as the Earth cooled became its present atmosphere. Other gases and water vapour released by volcanoes
also entered the atmosphere. As the Earth cooled the water vapour in the atmosphere condensed and fell as rain. The
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atmosphere cooled further as atmospheric carbon dioxide dissolved into the rain water. In turn this further caused the water
vapour to condense and fall as rain. This rain water filled the depressions on the Earth surface and formed the oceans. The first
life forms began in the oceans. These organisms did not breathe oxygen. Later cyanobacteria evolved the process of conversion
of carbon dioxide into food and oxygen. As a result Earth atmosphere has distinctly different composition from that of other
planets and allowed for life to evolve on Earth. The activities of modern humans have drastic effects on the hydrosphere. For
instance water diversion human development and pollution all affect the hydrosphere and natural processes within. Humans
are withdrawing water from aquifers and diverting rivers at an unprecedented rate. The Ogallala Aquifer is used for
agriculture in the United States and if the aquifer goes dry more than twenty dollar billion worth of food and fibre will vanish
from the worlds markets.

Restricted/ Unrestricted : Unrestricted

Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes

Allow Back Space : Yes

Show Back Space Count : Yes

Hindi Mock
Group Number : 4
Group Id : 2549894424
Group Maximum Duration : 10
Group Minimum Duration : 10
Show Attended Group? : No
Edit Attended Group? : No
Break time : 5
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
Hindi Mock
Section Id : 2549896966
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897007
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 78 Question Id : 25498944390 Question Type : TYPING TEST Display Question Number : Yes Calculator :

None
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Hindi Actual
Group Number : 5
Group Id : 2549894425
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Hindi Typing Test

Section Id : 2549896967
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897008
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 79 Question Id : 25498944458 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None
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